Proforma file of a simple test component : Type5399.tmf.
Two cycles:

Value of Test1 is used to define the cycle for Test2, Test21, Test22, Test3, Test31 and Test32

Value of Test2 is used to define the cycle for Test21 and Test22

Value of Test3 is used to define the cycle for Test31 and Test32
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Project file including component Type5399
Initially, the component’s parameters are like this.
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Changing Test1 value from 0 to 2, and you get:
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We can see that a new line appears at the bottom of the window!

Changing the value of Test2-Cycle1 and Test3-Cycle2 from 0 to 1 and you get:
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The line at the bottom of the window has disappeared!

Changing all the value to 0, and you get the original window without problem:
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Changing again Test1 to 1, Test2 and Test3 to 1, the following window appears:
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When OK clicking, you get the following window where you can see a trouble with the parameters:
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	It should be: 
	It is :

	Test1
	Test1

	Test2
	Test2

	Test21
	Test21

	Test22
	Test22

	Test3
	Test3

	Test31
	Test22

	Test32
	Test3


And you can’t do anything else without having the “invalid argument”.
